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rd segment that substitutes (replaces) the bracketed word segment correctly
s the sentence meaningfully. If there is no need to substitute it, select "No

have capture) the hearts of people from pre-historic times due to its unique
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rd segment that substitutes (replaces) the bracketed word segment correctly
s the sentence meaningfully. If there is no need to substitute it, select "No

alists are the newest breed of entrepreneurs who are usually wealthy enough
ieir own business.
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on:

wing passage carefully and choose the best answer to each question out of the
es and click the button corresponding to it.

on the south-western coast of India within.the region.known as.the Konkan,

1 the Deccan highlands of the state of Karnataka by the Western Ghats. It'is
laharashtra to the north and Karnataka torthe'east and south, with the Arabian
's western coast. It is India's smallest state by area and the fourth-smallest by
»a has the highest GDP per capita among all Indian states, twoand a half times
intry. It was ranked the best-placed state by the Eleventh Finance Commission
ucture and ranked on top for the best quality of life in India by the National

»n Population based on the 12 Indicators. Panaji is the state's capital, while

1a is its largest city. The historic city of Margao still exhibits the cultural

1e Portuguese, who first landed in the early 16th century as merchants and

;oon thereafter. Goa is a former Portuguese province; the Portuguese overseas
rtuguese India existed for about 450 years until it was annexed by India in 1961.

No:16
:d by which state in the north?
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ian Sea
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»a has the highest GDP per capita among all Indian states, two and a half times
intry. It was ranked the best-placed state by the Eleventh Finance Commission
ucture and ranked on top for the best quality of life in India by the National

»n Population based on the 12 Indicators. Panaji is the state's capital, while

1a is its largest city. The historic city of Margao still exhibits the cultural

1e Portuguese, who first landed in the early 16th century as merchants and

soon thereafter. Goa is a former Portuguese province; the Portuguese overseas
rtuguese India existed for about 450 years until it was annexed by India in 1961.
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on:

wing passage carefully and choose the best answer to each question out of the
es and click the button corresponding to it.

on the south-western coast of India within the region known as the Konkan,

n the Deccan highlands of the state of Karnataka by the Western Ghats. It is
laharashtra to the north and Karnataka to the east and south, with the Arabian
's western coast. It is India's smallest state by area and the fourth-smallest by
»a has the highest GDP per capita among all Indian states, two and a half times
intry. It was ranked the best-placed state by the Eleventh Finance Commission
ucture and ranked on top for the best quality of life in India by the National

»n Population based on the 12 Indicators. Panaji is the state's capital, while

1a is its largest city. The historic city of Margao still exhibits the cultural

1e Portuguese, who first landed in the early 16th century as merchants and

;oon thereafter. Goa is a former Portuguese province; the Portuguese overseas
rtuguese India existed for about 450 years until it was annexed by India in 1961.
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on:

wing passage carefully and choose the best answer to each question out of the
es and click the button corresponding to it.

on the south-western coast of India within the region known as the Konkan,

n the Deccan highlands of the state of Karnataka by the Western Ghats. It is
laharashtra to the north and Karnataka to the east and south, with the Arabian
's western coast. It is India's smallest state by area and the fourth-smallest by
»a has the highest GDP per capita among all Indian states, two and a half times
intry. It was ranked the best-placed state by the Eleventh Finance Commission
ucture and ranked on top for the best quality of life in India by the National
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on:

wing passage carefully and choose the best answer to each question out of the
es and click the button corresponding to it.

on the south-western coast of India within the region known as the Konkan,

n the Deccan highlands of the state of Karnataka by the Western Ghats. It is
laharashtra to the north and Karnataka to the east and south, with the Arabian
's western coast. It is India's smallest state by area and the fourth-smallest by
»a has the highest GDP per capita among all Indian states, two and a half times
intry. It was ranked the best-placed state by the Eleventh Finance Commission
ucture and ranked on top for the best quality of life in India by the National

»n Population based on the 12 Indicators. Panaji is the state's capital, while

1a is its largest city. The historic city of Margao still exhibits the cultural

1e Portuguese, who first landed in the early 16th century as merchants and

;oon thereafter. Goa is a former Portuguese province; the Portuguese overseas
rtuguese India existed for about 450 years until it was annexed by India in 1961.

No:20
‘ollowing statements about Goa is correct?

younded by Maharashtra to the South
the largest state by area
he fourth smallest by population

of the above
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